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X2/ ndf 5585e+04 /81
p0 303.7 £ 0.2463

3500

3000

2500

2000

1500

1000

500

WWWWWWWWWWWWWWWMW

sl EE R e e s

féf%




yield_bpm2i01WS_ mean vs run

3
x10 X2/ ndf 4.344e+05 / 81
L p0 1.721e+05 + 0.3161

I 7 R

=] R R @

I R

70 B

LT oo
TN RGO TEARM TN ORI~ QIS PO TR ST ISH0 A 000 5600 ISR ISHO SEN OXo

pull

82
35.65
33.19

25

15

0.5

pulllD
B 1 1 Entries 82
Mean 0.356
B Std Dev  3.771
11 11 11 | 11 | L1
-2 4 6 8




yield_bpm2i01WS_rms vs run

X2/ ndf 5.496e+04 /81

g pO 275.6 + 0.2235
3000 —
2500 f—
2000 f—
1500 f—
1000 f—
[0ete0ey cetesss000000R000000000000500000 000 surereiyr ¢ CeeStPReYEReSRS®

WWWWWWWWWWWWWWWMW

sl EE R e e s

fé*f?;




189.5

189

188.5

188

187.5

187

-100
-200
-300

-400

yield_bpm2i02WS_mean vs run

3
*x10 X2 / ndf

(ghese® o ©

- o
[T @
__ """"""""""""""""""""""""" ' @ T
B ®

TN RGO TEARM TN ORI~ QIS PO TR ST ISH0 A 000 5600 ISR ISHO SEN OXo

4.619e+05 / 81
R A PO 1.893e+05 + 0.3539

. SRS

pull

Std Dev

82
6.546
45.45

|J.I.II|J.I:I:

TTTT

I:H.I.Lll.l.l.l.l

AT

18

1.6

1.4

1.2

0.8

0.6

0.4

0.2

pulllD

Entries 82

Mean -2.445

Std Dev  6.064

-4

-2

0

2

4




yield _bpm2i02WS_rms vs run
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x2 [ ndf 23.9/81

ulllD

3000F— p0  -105.5+160.7 - P
= 25k J-

2000

1000 TT..

: lTl 20_ Std De
0 .- P J-|-
|

-1000

2000 lT =

=3000 [+ L _

ZAOQ0 [mrr e s s 101 -
%MWWWWWWWWWWWWWMW i
RESRRREEREE R

pull
piriiniiiiieenn e Entries 82 5+
Mean 168.9
StdDev ___ 1421 - ’_|' L
-0 N R T A ST AT N S
s 6 -4 =2 0 2 4 6 8




asym_bcm_dg_us_rms vs run

n X%/ ndf 5894 / 81
1651 po 1421'3 +0.1136
160;— ; % ; ‘H’{. ;

155 $

- t #‘} 44 § b }
150 ‘}{’ {'{, ¢ ¢ o #'}

- ¢
145
oy Jhp AR
135 ;ﬁ*‘}; ¢ {'{'{' # ¢ H{'{' 2! {’ '} : ¢ i i

- ¢
130 i

WWWWWWWWWWWWWWWMW

sl EE R e e s

fé*f%




asym_bcm_dg_ds _mean vs run
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